Tema ypoka
«flpumMeHeHUe
pacripedesiumesibHO20
ceoucmea YMHOXXEeHUST»
(ypok Ne 2)

22.12.2020



1) BbluMcAUTE:



2) 3aMeHnTe CMeLlaHHOe YUC/IO
CYMMOW ero uenom n ApobHOUN 4acTu:
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3agaHue

BbIMOJIHUTE YMHOXEHUE.
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6) 2= - 14 =
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PeweHwue:

a)3%-9=(3+§)-9=3-9+%-9=27+
+4 =31

6)25-14= (2+2)-14=2-14+>-14=
=28+4=32



[IPABUIIO

UmobbI yMHOXXUMBb cCMewaHHoe
YucJsi0 Ha HamypaJsibHOe 4YUucJio,
MOJKHO:

1) yMHOXXUMb UeJslyro Yacmb Ha
HamypaJsibHOe 4YUCJI1O;

2) YMHO>XUumb OPOb6HYr0 Yacmb Ha
3mo HamypaJsibHoe 4YUcCJI10;

3) c/10)KUMb MoJy1y4YeHHbIe
pe3yribmambail.



Ne 542 (a—-r)- CAM!



PeweHue:

1 1 1 4 4
a)6--4=(6+7)-4=6-4+--4=24+_=24
6)922=(9+2)2=92+22=18+é=18é

7 7 7 7 7

B)3°71=3-(7+l)=3-7+3-1=21+§=21§
1 1 1 1 1

16-11=6-(1+3)=6-1+6-2=6+2-6°
7 7 7 7 7



BbINO/IHUTE YMHOXXEHNe YCTHO:
1
a) 1 5 - 18 =

2
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3agada Ne 546 —- CAM!



PeweHue:

1
1) 1§
2) 1§
3) 12

1
4) 12

-5=6(m)—5 waros

12 = 14% (M) — 12 waros
20 =24 (M) — 20 waros
- 24 = 28% (M) — 24 wara



[omMmawHee 3a0aHue:

n.15 (npaBnno),

Ne 572, Ne 576, Ne 577.



